經濟實證與預測   

2007/05/15                                               林惠玲老師
1、 Follow the table gives invented data on home ownership Y (1=owns a house, 0=does not own a house ) and family income X ( thousands of dollars ) for 40 families.
Table

	Family
	Y
	X
	Family
	Y
	X

	1
	0
	8
	21
	1
	22

	2
	1
	16
	22
	1
	16

	3
	1
	18
	23
	0
	12

	4
	0
	11
	24
	0
	11

	5
	0
	12
	25
	1
	16

	6
	1
	19
	26
	0
	11

	7
	1
	20
	27
	1
	20

	8
	0
	13
	28
	1
	18

	9
	0
	16
	29
	0
	11

	10
	0
	18
	30
	0
	10

	11
	1
	17
	31
	1
	17

	12
	1
	18
	32
	0
	13

	13
	0
	14
	33
	1
	21

	14
	1
	20
	34
	1
	20

	15
	0
	6
	35
	0
	11

	16
	1
	19
	36
	0
	18

	17
	1
	16
	37
	1
	17

	18
	0
	10
	38
	1
	16

	19
	0
	18
	39
	0
	7

	20
	1
	18
	40
	1
	17


a. Using a computer package , estimate the logit and probit models for the above data and compare your results.

b. Which model would you choose and why?

c. Test the hypothesis that 
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 equals zero by using a wald test, likelihood ratio test.

2、 “An Application of Logit Analysis to Prediction of Merger Targets”
    To predict the probability that a given firm will be a merger target, J. Kimball

Dietrich and Sorensen estimated the following logit model:
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where Y=1 if the firm is a merger candidate and 0 if it is not. The authors assume that Z is linearly related to the variables shown below:
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 if a merger target, 0 otherwise; Payout ratio (dividend / earnings); Turnov = asset turnover (sales / total asset); Size = market value of equity; Lev=leverage ratio (long-term debt / total assets); Vol = trading volume in the year of acquisition.

     A priori, 
[image: image9.wmf]2

b

, 
[image: image10.wmf]4

b

 and 
[image: image11.wmf]5

b

 are expected to be negative, 
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 positive, and 
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 to be positive or negative. Based on a sample of 24 merged (Y=1) and 43 nonmerged (Y=0) firms, the authors obtained the results show in following table.
Logit estimate results

	Variable
	Coefficient
	Asymptotic error
	t-value

	Payout
	-0.74
	0.29
	-2.51**

	Turnov
	-11.64
	3.86
	-.301**

	Size
	-5.74
	2.39
	-2.40**

	Lev
	-1.33
	0.97
	-1.37**

	Vol
	2.55
	1.58
	1.62*

	Constant
	-10.84
	3.40
	-3.20**


  *Significance at 90%

  **Significance at 99%

     請計算各解釋變數的 adds ratio (one unit) , 並解釋之。

a. Explain how you will formulate a model explaining the following. In each case the sample consists of some observations for which the dependent variable is zero. Suggest a list of explanatory variables in each case.

b. Automoblie expenditures (in a year) of a number of families.

c. Hours worked by a group of married women.

d. Amount of child support received by a number of working wives.

e. Medical expenditures of a number of families.

f. Approval of loan granted by a bank to a number of applicants.

g. Amount of financial aid received by a group of students at a college.

h. Choice of country of outward foreign direct investment by firms.

下面二題選一題作答

3、 請舉一個例子來說明你為何以及如何要利用multiple logit model去進行實證研究，請說明你所要研究的問題或資料特性，再說明應如何設定模型，以及可能的預期結果。
4、 利用網路上的資料（傳產.data）去分析影響廠商早去、次早去、晚去中國大陸投資的因素，請先建立一個適當模型，再估計結果，並請說明估計結果的意義。
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